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To solve Division word problems , following points are to be
kept in mind :

>RE&d the story sums carefully and understand the given
information.

>Fifd the fact or the important information.

>DEEide what to do.
>BBNE the story sum.
>EREEK your answer.
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f31 S third graders are going for\

picnic. If the school allots 15
buses, how many students
\will ride on each bus?
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I C ur Tom: w,

students

students will ride on
will ride on each bus.

each bus?




DIVISION 00N>

DIVISION BY A 2-DIGIT NUMBER (WORD PROBLEMS) EDUCATIONAL GROUP

Y C/

Bllinderstand what's being divided. [l
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4) Then start writing the statements as follows:
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21 — Q
Number of students = 315
15 |31 5
Number of buses = 15 — 30 l
Students on each bus = 315 + 15 :II g
= 21 0— R

MY ATH
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Exercise-6 BQ.NoB-7,9 and 10
bk. pg. 88

in notebook.




DIVISION []‘M

DIVISION BY A 2-DIGIT NUMBER (WORD PROBLEMS) S et
Q7) 770 students of a school went for picnic by buses. If a
bus carries 55 students, how many buses were used ?

ANS: Number of students = 770 14 —Q
55 |

Students in a bus = 55

770
— 55|
220
—220
0

— R

o« Number of buses used =
770 + 55 = 14 buses
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Q9) For a drill display, 2589 students were arranged in
rows of 35. How many such rows were formed and how
many students were left out?

ANS: Number of students = 2589
Number of rows = 35

- Number of rows formed = 2589 - 35=73
and number of students left =34
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Q10) How many groups of 55 students can be formed from
8910 students of a school? Are there any students left out?

ANS: Number of students = 8910

Students in a groups = 55 s5 8 ; ? % — Q
—55 |
= Number of groups = ?? g 'b
8910 + 55 = 162 groups 110
No students were left out. =110
0— R
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Class Work :
Exercise-6 B Q. No B -7,9 and 10
in the notebook.

Home Work :
Revice Ch 6
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Children are able to read the story sum and

understand the language and also be able to solve

division word problems.
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